MaSTER)

NZ Support:

P: 0800 683 352

E: sales@utemaster.co.nz
W www.utemaster.co.nz

Ford Ranger 2022+
LLX-FRC2SB
Sailplane Load-Lid™

Fitting Time:

10 minutes

Despatch List:

ID# DESCRIPTION

PRT-006104-07

(Top Hoop)

M8 x 16mm Btn Bolt
(Black)

3 M8 Nyloc Nut

© Copyright Utemaster NZ Ltd.

IMAGE Qry
N .
by

8x

Australia Support:

P:1800 769 577

E: sales@utemaster.com.au
W www.utemaster.com.au



EE vasTer)

NZ Support:

P: 0800 683 352

E: sales@utemaster.co.nz
W www.utemaster.co.nz

Australia Support:

P:1800 769 577

E: sales@utemaster.com.au
W www.utemaster.com.au

Scan here to
watch this step:

Lift the top hoop
of the sailplane (1)
onto the Load-Lid.

Scan here to
watch this step:

Bolt the top hoop
of the sailplane
to the base feet on
each side, using the
following fasteners:

2) M8 x 16mm Btn Bolts
3) M8 Nyloc Nuts

© Copyright Utemaster NZ Ltd.



